
U3(5) (mod 2)

blocks defect matrix

G : 1 4 8× 3
2 2 4× 3
3 0 1441 = χ13, ϕ7

4 = 3 0 1442 = χ14, ϕ8

3.G : 5 4 8× 2
6 = 5∗

7 0 481 = χ17, ϕ10

8 = 7∗

blocks defect matrix

9 0 483 = χ18, ϕ11

10 = 9∗
11 0 485 = χ19, ϕ12

12 = 11∗
13 0 1443 = χ26, ϕ14

14 = 13∗
15 = 14 0 1445 = χ27, ϕ15

16 = 15∗

Block 1: ϕ1 ϕ2 ϕ6

11 = χ1 1 . .
201 = χ2 . 1 .
211 = χ3 1 1 .
1051 = χ8 1 . 1
1251 = χ9 1 1 1
1261 = χ10 2 1 1
1262 = χ11 2 1 1
1263 = χ12 2 1 1

ϕ1 = 11
ϕ2 = 201
ϕ6 = 1041

Block 2: ϕ3 ϕ4 ϕ5

281 = χ4 1 . .
282 = χ5 . 1 .
283 = χ6 . . 1
841 = χ7 1 1 1

ϕ3 = 281
ϕ4 = 282
ϕ5 = 283

Blocks 5, 6: ϕ9 ϕ13

212 = χ15 1 .
214 = χ16 1 .
842 = χ20 . 1

1052 = χ21 1 1
1054 = χ22 1 1
1264 = χ23 2 1
1266 = χ24 2 1
1268 = χ25 2 1

ϕ9 = 211
ϕ13 = 841


